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QUESTION 1

Click the Exhibit button.

des:inatiéﬂ_clnster::) snapmirror policy create -vserver dvsl -policy exclude LIF -type async-mirror -discard-configs network
destination cluster::> snapmirror create -scurce-path vsl: -destination-path dvsl: -type DP -throttle unlimited -policy exclude LIF -
schedule hourly -identity-preserve true

destination cluster::> snapmirror show
Frogress

Source Destination Mirrer Relationship Total Last
Path Type Path State Status Progress Healthy Updated
wval: DP dval: Snapmirrored Idle = true =

The source SVM vs1 has 50 CIFS shares, 100 NFS export policies, and four data LIFs.

Referring to the SVM disaster recovery output shown in the exhibit, which two statements are true? (Choose two.)
A. CIFS shares and NFS export policies are not migrated from the source to the destination.

B. LIFs are not migrated from the source to the destination.

C. CIFS shares and NFS export policies are migrated from the source to the destination.

D. LIFs are migrated from the source to the destination.

Correct Answer: BD

QUESTION 2

A user cannot delete the files in a volume\\'s Snapshot copy. In this scenario, what is the problem?
A. A retention period was configured for the Snapshot copy.

B. Snapshot copies are read only.

C. The files are being used by another user.

D. The user does not have the required permission.

Correct Answer: B

QUESTION 3

You relocate an aggregate to a different node by using the storage aggregate relocate command. In this scenario, which
rule applies?

A. You can only relocate an aggregate that is not assigned to a specific SVM.
B. You must first break the relationship to move an aggregate that hosts a replication destination.

C. You can only relocate an aggregate to the HA partner node.

NS0-159 PDF Dumps | NS0-159 Practice Test | NS0-159 Study Guide 2/4


https://www.pass2lead.com/ns0-159.html
https://www.pass2lead.com/ns0-159.html
https://www.pass2lead.com/ns0-159.html

P 2L d https://lwww.pass2lead.com/ns0-159.htm]
aSS ea 2024 Latest pass2lead NS0-159 PDF and VCE dumps Download

—— https://Pass2Lead.com

D. You cannot relocate an aggregate that is hosting a FlexGroup constituent volume.

Correct Answer: C

QUESTION 4

You want to configure Active Directory authentication for a cluster. You have performed the following actions:

-created the SVM,

-joined the SVM to Active Directory,

created the domain tunnel.

You attempt to log in to the cluster as an Active Directory user but access is denied.
How would you solve this problem?

A.

Create a custom role that allow Active Directory tunneling.

B.

Create a cluster user account with the same username and password as the Active Directory user.
C.

Create an Active Directory user account on the cluster.

D.

Create a cluster user account within Active Directory.

Correct Answer: C

QUESTION 5
Click the Exhibit button.

: 1> atorage failover show
Takeover
Node Partner Possible State Description
nodel node2 = Waiting for giveback
node2 nodel false In takeover.
node3 noded = Waiting for giveback
node4 node3l fals= In takeover, Auto giveback will be
initiated in 30 seconds
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Your 4-node cluster has two controllers in takeover as shown in the exhibit. Which action must be performed to ensure a
giveback occurs on both nodes?

A. Perform a giveback of nodel.
B. Perform a giveback of node4.
C. Perform a giveback of node3.
D. Perform a giveback of node2.

Correct Answer: B
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